Y11 Cycle 1 Week 3 Combined Science Homework: Extended writing questions (Higher)

Q1.
 
The combined contraceptive pill contains the hormones oestrogen and progesterone.
(i)  State the endocrine gland that releases oestrogen.
(1)
 ............................................................................................................................................. 

(ii)  Explain how high levels of oestrogen and progesterone in the combined contraceptive pill work together to prevent pregnancy.
(4)
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 ............................................................................................................................................. 
 
(Total for question = 5 marks)
 


Q2.
 
* Explain how hormones control the menstrual cycle.
TIPS
Name all 4 hormones involved
State where each hormone is produced
Explain what effect each hormone has on specific parts of the menstrual cycle, including inhibition 



(6)
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(Total for question = 6 marks)
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FSH (1)

 FSH causes eggs to mature
in the follicle / (no FSH
means) no eggs will be
matured (1)

o highlevels of progesterone
inhibit the production of
LH (1)

LH causes ovulation / (no
LH) prevents ovulation (1)

o ifeggs are not matured
and released they cannot
be fertilised (1)

accept thicker cervical
mucus to prevent the
sperm from reaching
the egg (2)
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Answers will be credited according to
candidate’s deployment of knowledge and
understanding of the material in relation to
the qualities and skills outlined in the
generic mark scheme.

The indicative content below is not
prescriptive and candidates are not
required to include all the material that is
indicated as relevant. Additional content
included in the response must be scientific
and relevant.

AO1 (6 marks)

- FSH released by pituitary gland

- stimulates eggs to mature in the follicle

- FSH triggers a rise in oestrogen

- oestrogen released from the ovaries

- oestrogen causes the lining of the uterus
to build up

- high levels of oestrogen stimulate LH
production

- surge of LH from the pituitary gland

- triggers ovulation

- progesterone is produced by the corpus
luteum

- progesterone maintains the lining of the
uterus

- high levels of oestrogen and
progesterone inhibit LH and FSH
production

- as progesterone levels fall menstruation
occurs

- low levels of progesterone and
oestrogen restart the cycle
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Level 1 12 - Demonstrates elements of biological
understanding, some of which is inaccurate.
Understanding of scientific ideas lacks detail.
(AO1)

- Presents an explanation with some structure and
coherence.
(AO1)

Level 2 34 - Demonstrates elements of biological
understanding, which is mostly relevant but may
include some inaccuracies.

Understanding of scientific ideas is not fully
detailed and/or developed. (AO1)

- Presents an explanation that has a structure
which is mostly clear, coherent and logical. (AO1)

Level 3 56 - Demonstrates accurate and relevant biological

understanding throughout. Understanding of the
scientific ideas is detailed and fully developed.
(AO1)

Presents an explanation that has a well-
developed structure which is clear, coherent and
logical. (AO1)





